H & 0l & AHS B Ml A

SA: A=CIAl ot
M HAPAZH|(ASCIAQ D)

Chel: J1=2 &l EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
Fal={BPNIN] 4,479,945 1,728,481 2,751,464

= 57,064 13,990 43,074
£ 900,000 0 900,000
< 15,982 6,99 8,987
= 3,506,899 1,707,4% 1,799,403
YA ZH(ASCIRRID) 55,952 49,760 6,192
Jl=&H 55,952 49,760 6,192
Jl=2&H] 52,172 45,980 6,192
201 Ler23 | 22,916 17,9% 4,920
01 At2t2ltl 22,808 17,888 4,920
OJl=&Hl 16,008 11,088 4,920
-= 2 A 8,000 +5A1x 128 x23H 11,040 6,33%6 4,704
-2 t=EH| ZE 240,000 x23F 0% 4,968 4,752 216
202 04l 29,256 27,984 1,272
01 =LHoi 29,256 27,984 1,272
O04H| 29,256 27,984 1,272
-2 ZE 160,000 x23H * 123 +60% 26,4% 25,344 1,152
-2 ZE 200,000 x23H +60% 2,760 2,640 120
2N A=HE 1,974,949 1,676,921 298,028
= 57,064 13,990 43,074
< 15,982 6,99 8,987
= 1,901,903 1,655,936 245,967
CAB2 &Y 309,633 97,253 212,380
A d 28,120 5,820 22,300
201 fer=3| 7,500 4,200 3,300
01 At22t2l] 7,500 4,200 3,300
O3sAUA=HARYS HA=E
100,000 1133 3,300 0 3,300
401 Al&BIL S THYI 19,000 19,000
01 Al£ZHI 19,000 19,000
OXISZH &eld(zZ2EuY) X s
19,000,000 19,000 0 19,000
TEE =Al2 17,633 11,433 6,200
401 AlEHIYL S THYI 13,000 6.800 6,200
01 Al&HI 13,000 6.800 6,200
Oxgd= & FH M= HY
Z& 5,000,000 5,000 1,800 3,200
O UE AAXEE K22
3,000,000 3,000 0 3,000
HESEAIE HEAE 170,000 0 170,000
402 RIZHAHZ0IA 170,000 0 170,000
01 QIENF 2 AL E (XM THR) 170,000 0 170,000




2A:

M AMIl=E ASFEH
&l SAIZ2 28 (CH9: &S1)
SA - B BR(S) - HRAY - BAS o vy ol H o HImS2
o= X7 DiS3l2 MHE At
170,000,000 170,000 0 170,000
OtS3l2 XA 13,880 0 13,880
402 QI2FXE01H 13,880 0 13,880
01 I 2AIS 2R (RAMITHE) 13,880 0 13,880
O2Y 70t IIiSsl& B3 Al
13,880,000& 13,880 0 13,880
Selznszel 130,252 126,752 3,500
Sejgnsetel 125,392 121,892 3,500
201 L2 9,32 5,892 3,500
01 AtR2telb] 3,800 1,800 2,000
OHE =2 HWESAtE &bl 7
2,000,000& 2,000 0 2,000
02 2324l 5,592 4,092 1,500
OHE =2 HEEME 22|
300,000& +53 1,500 0 1,500
sEFINRE=Y 1,261,064 1,183,916 77,148
= 54,064 13,990 40,074
< 15,982 6,9% 8,987
= 1,191,018 1,162,931 28,087
SSTUX ALY 540,500 524,000 16,500
402 QI2FXE01H 470,500 454,000 16,500
01 QIR 2AIS SR (RAMITHE) 470,500 454,000 16,500
O 2X==A0IEs SEAE RAES 3
At 9,500,000& 9,500 0 9,500
OdE ¢s23E OHIE FRICHM =S A
& A 7,000,000& 7,000 0 7,000
HNESSEEEE 252 KA 54,128 25,980 28,148
= 27,064 12,990 14,074
[ 13,532 6.,49% 7,037
= 13,532 6,4% 7,037
301 LEIEEZF 54,128 25,980 28,148
= 27,064 12,990 14,074
= 13,532 6,4% 7,087
= 13,532 6,49% 7,037
01 Al EEAGZ2(ZDEZME) 54,128 25,980 28,148
O&d HMNE2S3tEE B35 N2 ALY
23 54,128,000 54,128 25,980 28,148
= 27,064 12,990 14,074
& 13,532 6,4% 7,037
= 13,532 6,495 7,037
SEFHAHSF=HHEAS 32,500 0 32,500
= 26,000 0 26,000
< 1,950 0 1,950




SA AFCIARIL
M AMIl= HEHE
el sSEFNIIISH EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
= 4,550 0 4,550
402 RIZERHZ01H 32,500 0 32,500
= 26,000 0 26,000
< 1,950 0 1,950
= 4,550 0 4,550
02 QI A2 AL E R (0IHTHE) 32,500 0 32,500
OsEFHAXASFHNEXE
6,500,000 *57H 2 32,500 0 32,500
= 26,000 0 26,000
< 1,950 0 1,950
= 4,550 0 4,550
AFRE otd 2| 166,500 161,500 5,000
= 3,000 0 3,000
= 163,500 161,500 2,000
ASNER HPE+E 3,500 1,500 2,000
201 fer=3| 3,500 1,500 2,000
01 At22t2l] 3,500 1,500 2,000
OA=XER BE=E
& 100,000& #5873 3,500 1,500 2,000
NeAs MdE 4X1 2868 N2 3,000 0 3,000
= 3,000 0 3,000
405 THoHE S| 3,000 0 3,000
= 3,000 0 3,000
01 ML ESFSHI 3,000 0 3,000
OXSA=etEHE 2 ASEE 7L
3,000,000& 3,000 0 3,000
= 3,000 0 3,000
S3AUFAE 2835 1,401,800 1,800 1,400,000
£ 900,000 0 900,000
s 501,800 1,800 500,000
B3AE =8 N (FELXANL/NALEAL) 1,401,800 1,800 1,400,000
£ 900,000 0 900,000
= 501,800 1,800 500,000
OHEol(OtE)Est BUXH(EX) 900,000 0 900,000
s 900,000 0 900,000
401 AlEHIYL S THYI 900,000 0 900,000
£ 900,000 0 900,000
01 AlZHI 900,000 0 900,000
OOEI0I(O1E) Sat82 ZgAIY SAHI
900,000,000 900,000 0 900,000
= 900,000 0 900,000
SEYSAHH SE=1tE A 500,000 0 500,000
401 AlEBIYL LY 500,000 0 500,000
01 Al&HI 472,000 0 472,000
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SM: A=CIRI D
HM: WRsS(A=CIXID)
29 =8NS (£ &2
A - 3 - S2A(FH) - MRAY - BES (17| P e J 3 N Hnsz2
-OSEHZE L HEISAIY
171,760 172 0 172
-2 DS FHH L HEEY XIAI(2021)
118,940 119 0 119
-2HEH0| OFSCHR Al 2l A AR (2021)
44,8402 45 0 45
-SQlZD AHIRE XA (2021)
64,9202 65 0 65

-HX S0 SQEA AT ES A (2022)
27,0202 28 0 28




